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1. Marque a frase que contem  erro. 

 

a) You are thinking now. 

b) He is going to London. 

c) They are sleeping now. 

d) I are studying now. 

e) We are working here. 

 

2. Marque a frase que está correta. 

 

a) Peter are buying a car. 

b) Joe am a good guy. 

c) Paul is learning English. 

d) You and I am running. 

e) They is choosing a new car. 

 

3. Translate. 

 

a) The population of the world is 

growing. 

________________________________

________________________________. 

 

b) They are fighting against drugs. 

________________________________

________________________________. 

 

c) I listen to the radio every day but I 

am not listening to it now. 

________________________________

________________________________. 

 

d) Many countries are experimenting 

with nuclear reactors. 

________________________________

________________________________. 

 

e) What do you do? We’re engineers. 

________________________________

________________________________. 

 

f) The companies are expanding their 

business. 

________________________________

________________________________. 

 

 

 

 

 

 

        Choose the correct answer. 

 

4. The third month is ______________ 

(December / March / February) 

 

5. The first day of the week is _____________ 

(Monday / Sunday / Wednesday) 

 

6. His birthday is on the ____________ of 

September.                       (12
th

) 

(twelve/twentieth/twelfth) 

7. The first month is ______________ 

                           (April / June / January) 

 

8. Jane’s building is on the _____________  

     (19
th

) 

(ninth/nineteenth/ninetieth) 

9. My mother’s birthday is on the 

_____________________ of December   

           (29
th

) 

Twentieth-ninth//twenty-ninth/nineteenth) 

10. Marque a opção correta (44 / 14 / 4º / 34) 

 

a) forty-four / fourteen / forty / thirty-four 

b) forty-four / fourteen / forth / thirty-four 

c) forty-four / fourteen / fourth / thirty-four 

d) forty-four / four / forth / thirty-four 

e) forty-four / four / forth / thirty-four 

 

11. Twenty-eight multiplied by fourteen is? 

 

a) three hundred ten 

b) three hundred eighty-two 

c) three hundred ninety-two 

d) three hundred ninety-six 

e) three hundred twenty-two 

 

12. 500 + 500 = _____________________ 

 

a) one hundred 

b) one thousand 

c) seven hundred 

d) eight hundred 
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13. Mark the sentence in the plural. 

 

a) The babies are crying 

b) That man drives well 

c) There is some oil in the can 

d) This child sings well 

e) There’s one box in the car 

 

 

14. Marque  a alternativa em que os plurais 

estão corretos. 

 

a) policemen – wives – women – toys 

b) child – bus – men – chairs 

c) pencils – jeans – Holiday – people 

d) knife – glass – tables – streets 

e) Nice – Apple – cars– hand 

 

15. The plural of mouse is _____________ 

 

16. The plural of tomato/city/hero/toy 

Are: 

____________/________/_________/ 

________________.  

          

 

17. The singular form of: 

   (children/oxen/countries/fish) 

__________/____________/________/_______

. 

 

 

18. Marque a frase que contem erros com 

relação as preposições (in / on) 

 

a) In the evening I always see her. 

b) I can be on road in two weeks. 

c) On September I’ll be in Rio. 

d) In September he’ll be here. 

e) I’ll see her on TV. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

19. Use the Simple Present Tense. 

 

a) She ____________ her lessons well. 

 

b) They ____________ to school in the 

morning. 

 

c) Christine ____________ at night. 

 

d) They ____________ here. 

 

(   ) do learn / walk / cries / don’t live 

(   ) learn / walks / cries / doesn’t live 

(   ) learning / walks / cries / don’t live 

(   ) learns / walk / cries / don’t live 

(   ) learns / walk / cries / doesn’t live 

 

 

 

20. A tradução correta das preposições 

sublinhadas: 

 

a) The backpack is behind the door  

= _______________ 

b) The children are in the car. 

= _______________ 

c) Don’t go to the other side. 

= ________________ 

d) She is beside the house. 

= _______________ 

 

 


